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Please draw a | box | around your answers. No calculators, cell-phones. notes, ete. allowed.

1.(5+5=10 pts) Compute the following limits.
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2.(5+5+5=15 pts) Determine whether the given series are convergent or divergent. State the

tests you use and show details.
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3.(5+10=15 pts) Let C be the segment of the parabola 4y = z* joining M (0,0) to N(2.1).
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(B) Find the potential function ¥ = ¥(z. y) such that
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4.(7+8=15 pts)
(A) Evaluate

L‘(Ty + e‘r2)dsr + (19:6 + 61’7)dy

where €' is the curve that traces out the boundary of the triangular region with vertices A'(3,0),
L(6.0) M(17.5) in counterclockwise fashion.
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(B) Compute the area enclosed by the closed curve

x = 2cos(t)+ cos(2t)

y = 2sin(t) —sin (2¢)
where 0 < ¢ < 27.
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5.(10+5=15 pts) (A) Find the interval of convergence of power series

o

n

_| 7. REC |

e EZNALY ) oV [ [ x| M

GO n KT 4on (242044 )
427 (n2+3)

[ 3 ﬂ2 N % N
[JXI "Y\E_L_ﬁi_—1<l S Zu Ix[<4

3
= M ~4<x <Y

1
Bodortes: x=4 5 o 06" _ Sepy
i - Ty = .0 5 :
n=0 4 7—*?)) n% 4. (n*3) [QHMM@S’%@)

() D _0 W) ot o
Lm =0 L) H2 T L2 12

Cor\\/t’/gén{ bgf Q ST

O
O

}JW\

n=6 q 2+%) o 4n*t3)
[ "a—lz - n*  _ 1 51
—L’f:’;* = ]JW\ TR P >0+ Shee {% Ao 0)\\/(?9&\{

LJa Limc Cornpor i Test, %Llin“fl?,:qp s d Voaent; too

j;d:ervm‘ ojy COWG’I@%{«E = ( ZT Llj

(B) If f(x g : +d§) 2", then compute g'*29(0) where g(x) = 2% f(x).
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6.(0+5+5=15 pts) Find the Taylor/Power series for the following functions around the given

centers.

(A) f(x) = % around a = 0.
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7.(5+5+5=15 pts) An elliptic paraboloid is given by the following equation z = 1 + 2% + 552
(A) Find the equation of the plane which is tangent to this elliptic paraboloid at (2, 1, 10).
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(B) Find the eqlnllon to the line which is perpendicular to this elliptic paraboloid at (2. 1. 10).
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(C) Find the minimum distance between the plane z = 4 + 10y and this elliptic paraboloid.
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